Two Variable Functions & Double Integrals

So far we have exclusively looked at functions of the form y=f(x) and x=h(y), but not all curves or equations follow this form. For example, a circle. The equation of a circle centered at (0,0) with radius r is given by $x^2+y^2=r$. This equation can not be transformed into one of the forms mentioned above. We can solve for x or y but are left with $y=\pm\sqrt{r^2-x^2}$ or $x=\pm\sqrt{r^2-y^2}$ but these are technically two functions each, the top and bottom hemispheres or the left and right hemisphere.

Two Variable Functions

Let us get familiar with these two variable functions with a visual example. Let's say we have a house with a circular floor plan with a cut-off for the entrance. The height at any point in this house can be given by the two variable function f(x,y) = 40 - 2x + 2y. Using the picture below answer the questions to the side.

			(a) What region of the house are you in at
	Kitchen	Living	
	ÉDinning	Room (6,25)	(5,25) is in the living room
	w c		(-5,-5) is in the living room fstudy
-10		10	
	Bedroom	Fover	(b)What is the height at (10,5) and (-10,-10)?
	f Study	NO TO	f(5,2.5) = 40 - 2(5) + 2(2.5) = 35
			f (+5,-5)= 40-2(-5)+2(-5)= 40
		- 10	

(c) Parameterize the fover region in terms of x and y. Give 2 ways of doing this.

x first notation: lowest $\leq x \leq$ highest $\Rightarrow 0 \leq x \leq 10$

random vertical line: bottom function => x-10 = y = 0

D= 2(x,y) 1 0 < x < 10, x - 10 < y < 03

 γ first notation: $D= \sum (x, \gamma) | -10 \le \gamma \le 0, \gamma + 10 \le x \le 0$ (g) Use the ideas of Riemann sums to find the internal volume of the house enclosed by the forer. Nolume enclosed by the surface f(x,y) = f(x,y) = 40-2x+2y over the region

 $D = \{(x,y) \mid 0 \le x \le 10, x - 10 \le y \le 0\}.$



Divide the region D up into small rectangular patches with evenly spaced horizontal and vertical lines. We describe each square by its center (x,y) with width Δx and length Δy so it has area $A = \Delta x \cdot \Delta y$. Since this square is infinitely small, we can assume the height to be f(x,y). Thus $\Delta V = \Delta x \cdot \Delta y \cdot f(x,y) = (40 - 2 \times t 2 y) \cdot \Delta x \cdot \Delta y$. Just like before we can sum over the variables to get

Double Integrals

The double integration of f(x,y) over the rectangle $R = \mathcal{E}(x,y) | a \le x \le b, c \le y \le d3$ is $SS_R f(x,y) dA = S_C S_A^b f(x,y) dx dy$ (if it exists).

Example.

																	X-1		25	N.	-va	ues							
1.	Co	mpi	nte	SS	R	x²y²	+ c	05 (1	(XII	ts	in ([.]	Ty)	dA	0	er	R =	[-z	,-13	׼	0,1]	•	si	ηιπ	y i	s a	co	nsta	int	
				2																		1	wi	h	resp	ect	to	x i.	e.
						SS	RX	2121		ιπ	0+	sinl	(Ty)	dA	- S	S-2	x ^{z,}	2+	cos	x IT Ja)+:	sin(TY)	dx	dy	54	dx:	- X	+C
				١.											= 5	11	3 x ³	2+	1	int	(xn	+ x	sin	(กา]_1	dv			
															= [3	3 -1) y	י + + +	ilo).	Sir	וπ	y)- :	 3(-2	32	- #(()+2	sin	ITTY)dy
															= [국.	1 ² +	sin	ιπν) d	N							•	
•	Ż	•	1				0								= [1 4 v	- 7	r co	sιπ	10	1								
				-1-											=7 = 9	+ =													
Si	nce	H	he	bo	un	ds	fc	ir k	bot		x a	nd	V	are		ons	sta	nts	5. IA	be.	ca		51430	D	dx d	ki 4		hd	х.
													1											T				100	
	SS	x۲	2+	cos	lπx	.)+ :	sinl	(v)	dA	= <u>}</u> _	$\frac{1}{2}\int_{c}$	χ ^z .	v^2 t	CO:	5(π	x) +	Si	∩ (π	V)	dv (dx								

JJR	XZ	2+	cos	(mx)	t sir	ηίπη) dA	= <u>J</u> _z	Jo X	² + (COS(T	tx) +	Sin(1	N) d	x dx					
								= <u>J-z</u>	[± x	3+	ycos	(πx)-	- co	s(πy)	j' d	x				
								=∫-1 -∠	$\frac{1}{3}x^{2}$ +	COS	5(πx)	- + (COS(π)-0-	-0 + 7		5(0) 0	lx 🛛		
								$=\int_{-z}^{-i}$	$\frac{1}{3}x^{2}$ +	cos	(πx) ·	+ + +	₩ dx							
								= 4	3 t sin	ηιπ	(x)+ ⁴	÷x I	-1 -2							
								= 4	-1)3+0	$+\frac{2}{\pi}$	(-1) - i	ด่ (-z)	3+0-		2)					
								= đ	2 TT											

Exit Ticket Improper Integrals

Improper Integrals

- 1. If $\int_a^c f(x)dx$ exists for every t > a, then $\int_a^\infty f(x)dx = \lim_{c \to \infty} \int_a^c f(x)dx$ provided that the limit exists and is finite.
- 2. If $\int_{c}^{a} f(x)dx$ exists for every c < b, then $\int_{-\infty}^{b} f(x)dx = \lim_{c \to -\infty} \int_{c}^{b} f(x)dx$ provided that the limit exists and is finite.
- 3. If f(x) is continuous on the interval [a, b) and not at x = b, then $\int_a^b f(x)dx = \lim_{c \to b} \int_a^c f(x)dx$ provided that the limit exists and is finite.
- 4. If f(x) is continuous on the interval (a, b] and not at x = a, then $\int_a^b f(x)dx = \lim_{c \to a} \int_c^b f(x)dx$ provided that the limit exists and is finite.
- 5. If f(x) is not continuous x = t where a < t < b, then $\int_a^b f(x)dx = \lim_{c \to t} \left[\int_a^c f(x)dx + \int_c^b f(x)dx \right]$ provided that the limit exists and is finite.

The integral is considered **convergent** if the limit exists and is finite and **divergent** if the limit doesn't exist or is infinite.

Solve the following integrals using the concept above:

1.
$$\int_{0}^{\infty} \frac{1}{x} dx$$

$$= \lim_{\substack{i \le 0 \\ c \to 0^{c}}} \int_{c}^{1} \frac{1}{x} dx + \lim_{\substack{i \le 0 \\ d \to 0^{c}}} \int_{1}^{0} \frac{1}{x} dx$$

$$= \lim_{\substack{i \le 0 \\ c \to 0^{c}}} [\ln|x|]_{c}^{1} + \lim_{\substack{d \to 0^{c}}} [\ln|x|]_{1}^{d}$$

$$= \lim_{\substack{i \le 0 \\ c \to 0^{c}}} [\ln|x|]_{c}^{1} + \lim_{\substack{d \to 0^{c}}} [\ln|x|]_{1}^{d}$$

$$= \lim_{\substack{i \le 0 \\ c \to 0^{c}}} [\ln|x|]_{c}^{1} + \lim_{\substack{d \to 0^{c}}} [\ln|x|]_{1}^{d}$$

$$= 0 - (-\infty) + 0 - \infty \therefore \text{ divergent}$$

3.
$$\int_{1}^{4} \frac{1}{x^{2} + x - 6} dx = \int_{1}^{4} \frac{1}{(x - 2)(x + 3)} dx$$

$$= \int_{1}^{0} \frac{e^{\frac{1}{x}}}{(x - 2)} - \frac{1/5}{(x + 3)} dx + \int_{2}^{0} \frac{1}{(x - 2)} - \frac{1/5}{(x + 3)} dx$$

$$= \lim_{\substack{c \to 2^{c} \\ c \to 2^{c}}} \int_{1}^{1} \frac{1}{x^{2} + x - 6} dx = \int_{1}^{4} \frac{1}{(x - 2)(x + 3)} dx$$

$$= \int_{1}^{0} \frac{e^{\frac{1}{x}}}{(x - 2)} - \frac{1/5}{(x + 3)} dx + \int_{2}^{0} \frac{1/5}{(x - 2)} - \frac{1/5}{(x + 3)} dx$$

$$= \lim_{\substack{c \to 2^{c} \\ c \to 2^{c}}} \int_{1}^{1} \frac{1}{x^{2} + x - 6} dx + \lim_{\substack{k \to 2^{c} \\ k \to 2^{c}}} \int_{k}^{0} \frac{1/5}{(x - 2)} - \frac{1/5}{(x + 3)} dx + \int_{2}^{0} \frac{1}{(x - 2)} - \frac{1/5}{(x + 3)} dx$$

$$= \lim_{\substack{c \to 2^{c} \\ c \to 2^{c}}} \int_{1}^{1} \frac{1}{x^{2} + x - 6} dx + \lim_{\substack{k \to 2^{c} \\ k \to 2^{c}}} \int_{k}^{0} \frac{1}{(x - 2)} - \frac{1/5}{(x + 3)} dx$$

$$= \lim_{\substack{c \to 2^{c} \\ c \to 2^{c}}} \int_{1}^{1} \frac{1}{x^{2} + x - 6} dx + \lim_{\substack{k \to 2^{c} \\ k \to 2^{c}}} \int_{k}^{0} \frac{1}{(x - 2)} - \frac{1/5}{(x + 3)} dx$$

$$= \lim_{\substack{c \to 2^{c} \\ c \to 2^{c}}} \int_{1}^{1} \frac{1}{x^{2} + x - 6} dx + \lim_{\substack{k \to 2^{c} \\ k \to 2^{c}}} \int_{k}^{1} \frac{1}{(x - 2)} - \frac{1/5}{(x + 3)} dx$$

$$= \lim_{\substack{c \to 2^{c} \\ k \to 2^{c}}} \int_{1}^{1} \frac{1}{(x - 2)} - \frac{1}{(x + 3)}} \int_{1}^{1} \frac{1}{(x - 2)} - \frac{1}{(x + 3)} dx$$

$$= \lim_{\substack{c \to 2^{c} \\ k \to 2^{c}}} \int_{1}^{1} \frac{1}{(x - 2)} - \frac{1}{(x + 3)} dx}$$

$$= \lim_{\substack{c \to 2^{c} \\ k \to 2^{c}}} \int_{1}^{1} \frac{1}{(x - 2)} - \frac{1}{(x + 3)} \int_{1}^{1} \frac{1}{(x - 2)} - \frac{1}{(x + 3)} dx}$$

$$= \lim_{\substack{c \to 2^{c} \\ k \to 2^{c}}} \int_{1}^{1} \frac{1}{(x - 2)} - \frac{1}{(x + 3)} \int_{1}^{1} \frac{1}{(x - 2)} - \frac{1}{(x + 3)} \int_{1}^{1} \frac{1}{(x - 2)} - \frac{1}{(x + 3)} dx$$

$$= \lim_{\substack{c \to 2^{c} \\ k \to 2^{c}}} \int_{1}^{1} \frac{1}{(x - 2)} - \frac{1}{(x - 2)} - \frac{1}{(x + 3)} \int_{1}^{1} \frac{1}{(x - 2)} - \frac{1}{(x + 3)} dx}$$

$$= \lim_{\substack{c \to 2^{c} \\ k \to$$

Produced by Audriana Houtz, Mathematics Ph.D. student at the University of Notre Dame.